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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
assignment answer is to be given in the specified space according to the instructions.

Detail schedule for submission of assignment for the
PG Term End Examination June-2020/Dec.-2020

1. Date of Publication :20/06/2020

2. Last date of Submission of answer script by the student to the study :19/07/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 16/08/2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No changed / correction of assignment marks will be

accepted after the said five days.) :23/08/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :31/08/2020
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Answer Question No. 1 and any four from the rest.
Answer any five questions : 2x5=10
a) What are the differences between "a" and 'a' in C language ?
b)  Which one of the following statements is not equivalent to the other two (assuming
that loop bodies are the same) ?
i) for (i=0; i<10; i++) {body}
ii) for (i=0; i<10; ++i) {body}
iiij for (i=0; i++<10;) {body}.
) What is the output of the program segment ?
int i=3, j=4, k=5;
printf ("%d\n", i<j || ++3j<k);
printf ("%d%d%d", i,]j,k);
d) How are 'stack’' and 'queue’ different ?
e) Find out the errors (if any) :
i) if(x £ y) max == y;
ii) for( ; i>0; --i);
f) What is meant by the address of memory cell ? How are addresses usually
numbered ?
g) What output does the following for statement produce ?
for (i=10; i>=1; i/=2)
printf ("$d", i++);
h)  Explain '%f format specification.
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2 a)  Write a C program to display the following output : )
*
* *
* % *
* % % *
* % * * %

b)  Explain 'switch' statement in C. 2

c) Explain why the output of the following 'for' statement produces an infinite loop.

3
for (i=10; i>1l; i=i/2)
printf ("%d\n", i++);

3 a) Rewrite the following function to use pointer arithmetic instead of array subscripting
(In other words, eliminate the variable i and all uses of the [ | operator.). Make as
few changes as possible. 3
void store-zeros (int a[ ] , int n)

{
int i ;
for ( i=0; i<n; i++ )
a [i] =0;
}

b) Suppose that high, low and middle are all pointer variables of the same type, and
that low and high point to elements of an array. Why is the following statement
illegal, and how could it be fixed ? 1+2
middle = ( low + high )/2;

c) Consider the following linked list L that has node of the form

L[] F—[2] F—=[3] F—{4] F—{5]]

L
What does the following function print if we pass the linked list as input argument ?
void func (struct node *L) 4
{
if (L ! = NULL)
{

func (L — next);
printf ("%d",L — data);
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Find below a program in C. Determine the output after executing the program.
void main ( )

{

int a = 5,b,*p,*q;
P = &a;
b = *p/2+10;
q=Pp/

printf ("a=%d,b=%d, *p=%d,*gq=%d",a,b,*p, *q) ;
}
Also explain how the arithmetic expression *p/2+10 is processed. 4
Translate each 'infix' expression into corresponding 'postfix' expression.
i) A+B*C—-(D+E)*C
i) (A+BTD)/(E-F)+G 2+2

What are P and NPC problems ? 2
Suppose two linked list L; and L, are given. Write a procedure to concatenate

these two list. 4
Find below the algorithmic steps of 'Babylonian Method' for finding square root of a
positive real number S.

i) Guess any positive number X .

i)  Apply the formula X; =(X,+S/Xgy)/2. The no. X is better approximation

of\/§.

iiij Apply the formula X X,+S/X,)/2 untl |X, ;-X becomes

n+1=( nl

smaller than 0-001.

Write a recursive function in C for above method and find out the value of v/8 using
this. 4+ 2
The parenthesis must appear in balanced fashion in any valid arithmetic expression.
Balanced parenthesis means that each opening symbol has a corresponding closing
symbol and the pairs of parenthesis are properly nested. Consider following two
arithmetic expressions :

i) [(x+y)*{{(a=b)*c}-d] — Balanced

ii) (x+y)*[{(a-b)+c) — Not balanced.

Write a program in C for balanced parenthesis problem. Assume that '(', '{, '[' are
opening parenthesis and ')', '}, '|' are closing parenthesis. You can use stack data
structure. 6
Explain 'break' and 'continue' statements in C with an example. 2+2

Let 'DOUBLE' be the following macro :
# define DOUBLE (x)2*x

Find out the value of DOUBLE (1+2). Justify why the result is not 6. Rectify the
macro definition so that DOUBLE (1+2) prints 6. 1+2+1

Explain following statements in C with an example :
i) nested if

ii)  multi-alternative if. 2+2
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Find out suitable values of c¢;,c¢, and ng such that 2n+5=06(n). (¢;,c, and ng

have their usual meanings as in the definition of 6(n) ). 2

First Answer :
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